
112201-286
W112963

3.0ACS

3.0ACS W113528

HWS0001-375
HWS0003-375

W112964

HBS0003-020

HNS0001-375

W112901
HNS0002-313

T5155

HWS0001-313
HBS0002-008

FX1122

HBS0002-008
HWS0001-313

W142904 HNS0002-313

SHIPPING INFO
WEIGHT [lbs] 62
HEIGHT [in] 10
LENGTH [in] 46
WIDTH [in] 16

ITEM 
NO.

PART 
NUMBER DESCRIPTION S5262304/

QTY.
1 W113528 PIPE ASSY, 3", RESONATOR 1
2 112201-286 PIPE, 3", EXTENSION 1
3 W112963 MUFFLER, 3" IN, 3" DUAL OUT, OVAL 1
4 W112901 PIPE ASSEMBLY, 3", TAIL 1
5 W112964 PIPE ASSEMBLY, 3", TAIL 1
6 W142904 BRACKET, HANGER, 1/2" 1
7 FX1122 RUBBER ISOLATOR 1
8 3.0ACS CLAMP, 3.0", BAND, STAINLESS STEEL 4
9 HWS0001-375 WASHER, FLAT, 3/8", ZN 4
10 HBS0003-020 BOLT, HEX 3\8-16x2.5" GR5, ZN 2
11 HNS0001-375 NUT HEX 3/8" GR5 ZN 2
12 HWS0003-375 WASHER, LOCKING, 3/8, ZN 2
13 HNS0002-313 NUT, U SHAPED, PANEL, 5/16-18 3
14 HWS0001-313 WASHER, FLAT, 5/16",(7/8"OD) ZN 3
15 HBS0002-008 BOLT, HEX, 5/16-18 X 1.0", GR5, ZN 3
16 T5155 TIP, 3" INLET, 4" OUTLET, ANGLED ROLLED END 2

2015-2020 FORD F150, ALL, 
EXCL. REG CAB SHORT BOX, EXCL. FACTORY DUAL EXHAUST,  
CAT-BACK, 3.0" DUAL PRE-AXLE, PASSENGER-SIDE, STREET PROFILE

15 April, 2021
REV:D

S5262304


	S5262304
	Drawing View3


